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Note: You can write your answers in Chinesc or English.

1. Explain the following terms:

(a) Half duplex,

(¢) Round-robin sharing,

2. Consider 2" —1 nodes connected as a ring. Assume the packets can go left or right,
whichever is nearer. Determine the average number of hops needed for transmitting a packet
from a node to another. (15%)

3. Can a bridge connect a Token Ring network to an Bthernet? Can a switch? Why or why not?

(15%)

4. Explain why you can connect to the Internet by an ADSL modem with the same telephone

(b) Forward error correcting (FEC),

(d) Application program interface (API). (5% each)

line on which you are talking, (15%)

5. Briefly describe the distance vector routing algorithm, ( 15%)

6. How many bits are required individually for an IPv4 address and an IPv6 one? What are

the major improvements of IPv6 over IPv4? (20%)
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